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Does the sky have two colors, blue and red?

Have you looked at the sky on a clear day?
It must have been bright blue.
But, the sky has no color.

The blue color is only a reflection of the light from the sun.

There are several colors in sunlight,

but the blue color reflects best during the daytime.
That is why the sky is blue during the daytime.
The sky turns red at sunset.

Have you ever wondered why the sky turns red at sunset?

As the blue color is seen during the day,
the red color in sunlight spreads most widely at sunset.
Now you know why the sky looks blue during the daytime

and red at sunset.
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QL1: Does the sky have two colors, blue and red?/

Sjj Ad:

Q2: Have you looked at the sky/ on a clear day?/

<] ESK

Q3: It must have been bright blue./

S| Ad:

Q4: But, the sky has no color./

Sjj Ad:

Q5: The blue color is only a reflection/ of the light from the sun./

Sl Ad:

Q6: There are several colors/ in sunlight,/ but the blue color reflects best/ during the
daytime./

Sjj Ad:

Q7: That is why the sky is blue/ during the daytime./

<] ESK

Q8: The sky turns red/ at sunset./

Sl A

Q9: Have you ever wondered/ why the sky turns red/ at sunset?/

SfA:

Q10: As the blue color is seen/ during the day,/ the red color in sunlight/ spreads most
widely/ at sunset./

S A

Q11: Now you know/ why the sky looks blue/ during the daytime/ and red/ at sunset./

Sl Ad:
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Why is The Sea Blue?

When you were playing in the water, didn't you think
it was odd that the water was not blue against your skin?

It is because the sea reflects the color of the sky.

During the daytime, the sky is blue.
The color blue is easily reflected off the surface of the sea.

That is why the sea looks blue.




Q1: Why is The Sea Blue?/

SfA:

Q2: When you were playing/ in the water,/ didn't you think it was odd/ that the water
was not blue/ against your skin?/

S| Ad:

Q3: It is because the sea reflects the color/ of the sky./

Sl A

Q4: During the daytime,/ the sky is blue./

Ol Ad:

Q5: The color blue/ is easily reflected off the surface/ of the sea./
Sl A

Q6: That is why the sea looks blue./

Sjj Ad:




SIEX T HZt5E7| (2fo|Eky])
4 AHAnF09 Hicl= of FE7}
Q1: HiCh= o FEF? Sl E: /blue /is /sea /the /why
RS
Q2: 0|3 20| =1 AAS [ 3l E: /playing /were /when /you
of X}
S
Q3: HFCHOf| A S E: /in /the /water
o X}-
o=
Q4: O|AYSICE D AMZESHX] UUYLIR? Sl E: /didn't /it /odd /think /was /you
o Xt
Q5: 20| metA#0| Ot Z40| S| E: /blue /not /that /the /was /water
of X}
o=
Q6: m|F0f HFZ=S Sl E: /against /skin /your
RESH
Q7: OA2 HICH7} M2 BEALSEY | S| E: /because /color /is /it /reflects /sea /the /the
= L C} L ESy
Q8: ot=2 8l E: /of /sky /the
of X}
o=
Qo: & Eotofl= 8| E: /daytime /during /the
SESH
Q10: 5t=0| mEt& Lot Sl E: /blue /is /sky /the
o X}-
S
Q11: mztAd2 81 E: /blue /color /the
of X}
oS-
Q12: EHO| A BEAFEIL|CE Sl E: /easily /is /off /reflected /surface /the
O:le':
Q13: HtC}o S| E: /of /sea /the
of X}
o=
Ql4: 17Zi0| HiCt7} 2 O|RYULICE  $IE: /blue /is /looks /sea /that /the /why
o X}-
o=




QL HiCHe 9f ZEIP
-

Q2: 03{ 0] =1 AYUS U/ BICIO A/ O SOtC D A ZSHA| ERLER?/ =0 D0

Otl Zol/ m&of HFZ= O

R

Q3: A2 HICI7L Mg BhARSE?| 2L SOl
<L

Q4: & SQt0l =/ 8h50| THgkLch

SR

Q5: TfEHA4 S/ ERO| &7 HEAFE LI HiCho)

SRR

Q6: 20| Hiek7t Z2 o] felLict

L




4 XIS F10_HISHE 2 of B}

Why is Seawater Salty?

The water vapor in clouds comes down as rain.

Most raindrop do not go directly to the sea.

The water carries many minerals.

The cycle is constantly repeated.

This is why seawater is salty.

The rain travels through many places before it gets to the sea.

—
!

The vapor collects minerals by eroding rocks and soil.

The vapor evaporates in the air, and then falls down as rain.

10




Q1: Why is Seawater Salty?/

Sjj Ad:

Q2: The water vapor in clouds/ comes down/ as rain./

<] ESK

Q3: Most raindrop/ do not go directly/ to the sea./

Sl A

Q4: The rain travels through many places/ before it gets to the sea./
SfA:

QS5: The water carries many minerals./

Sl Ad:

Q6: The vapor collects minerals/ by eroding rocks and soil./

Sl A

Q7: The vapor evaporates in the air,/ and then falls down/ as rain./
Sjj Ad:

Q8: The cycle is constantly repeated./

<] ESK

QO: This is why seawater is salty./

Sl A
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Korea Has Four Seasons

Korea is one of the most beautiful places to live in the world.

Korea has four distinct seasons: spring, summer, fall, and winter.

Do you know why Korea has four beautiful seasons?

People think each season of Korea is a result of the distance of Korea

on Earth from the Sun.

But, the Earth’s tilt towards the Sun is how we can explain the change
in the seasons of Korea.
The tilt of the earth’s axis is 23.5 degrees.

The amounts of sunlight around earth vary due to the tilt.

14
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Q1: Korea Has Four Seasons./

Ol Ad:

Q2: Korea is one of the most beautiful places/ to live/ in the world./
off M-

Q3: Korea has four distinct seasons:/

Sl A

Q4: spring, summer, fall, and winter./

Sjj Ad:

Q5: Do you know/ why Korea has four beautiful seasons?/

Sij A:

Q6: People think/ each season of Korea/ is a result of the distance of Korea on Earth/
from the Sun./

Sjj Ad:

Q7: But, the Earth’s tilt/ towards the Sun/ is how we can explain the change/ in the
seasons of Korea./

Sl A

Q8: The tilt of the earth’s axis/ is 23.5 degrees./

Sl A

Q9: The amounts of sunlight around earth/ vary due to the tilt./

off M-

15




71 (2ol k)

= 44 Eo| Ut

Q5: oh=2 FEith 44 H0| AKX
Q6: =, Ol&, 7t 12|12 A=

Q7: o8{Z2 &1 ALK

: /four /has /korea /seasons

: /beautiful /is /korea /most /of /one /places /the

: /in /the /world
. /distinct /four /has /korea /seasons
: /and /fall /spring /summer /winter

: /do /know /you

Q8: ot=0f off OFELHZ 44 =0| A=A

Q9: ALEHE 2 d2tetL Ct

Q10: st=0o| 2t HHE

Q11: X|7of U= st=zatel AHe|
20|z}

Q12: Ef ¥t

Q13: &kX|2t X| 77t 7| 201 Zl A 0|
Ql4: Ef S ol

Q15 R2|7t HetE A = U=
2Eolo e

Qle: ot= AEHQ|

Q17: X[+ Z9| dAt=

Q18: 23 5= YL}

Q19: K| 70| H|ZE o]

rlo

Q20: ZAt= Qlofj ZratE LTt

: /beautiful /four /has /korea /seasons /why
: /people /think

: /each /korea /of /season

: /a /distance /earth /is /korea /of /of /on /result /the
: /from /sun /the

/but /earth's /the /tilt

: /sun /the /towards

: /can /change /explain /how /is /the /we

: /in /korea /of /seasons /the

: /axis /earth's /of /the /the /tilt

/235 /degrees /is

: /amounts /around /earth /of /sunlight /the

0Q rot 0Q rot 0Q rot 0Q rot 0@ rot oQ rot 0Q rot 0@ rot 0Q rot ofR rot 0fQ rot 0f rot of rot 0 rot of rot of rot o0f rot oL rot of rot of rot
Zm oA m o m 3 m o m B mo12mom 3 moJmo R m 1 mom B moJmo R m 13 mom 3 (m 12 |m

: /due /the /tilt /to /vary




e
4 XA RF11_sta2 44 FHo| JAsHCt

QL ot=2 4AE0| A LIt

o Xt

Q2: =2 J1A OLECHR R F Lo/ & 7|0/ & M A oA
A,

Q3: 2= TR 4AHO| UK

S

Q4 = 05 7= el A=

e

Q5: o222 €1 ALte/ =0 of OFCH2 44 ZE 0| A=K

(@ |

Q6: AFHES MZtBtLCl $H=o| 2t AL/ X0 Yk 32 to| Ha| H2o|atn/
el ¥ af

L

Q7: 3HRIBH X7} 7| 201T 20|/ BN Bl Q2|7 MstE HEE 4 e wHo|oe/
ot ARC

gzt

Q8: K| %9 ZAH=/ 2352 Lo

<L

QQ: X 70| HIZE S0 %L/ HAIE Qls) ZatELch

O Xt

S

17




[
$Q
2
fo

4 XA F12 HEO| A

It is Thundering!

Lightning is very important in thunderstorms.
Without lightning, there would be no thunder.

Inside of each cloud there are either positive (+) or negative (-) electrons.

No cloud has both kinds of electrons.

When the electrons’ equilibrium is not maintained, there is a spark.

‘Oh, it is thundering and lightning'.

18
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Sl A

Q2: Lightning is very important/ in thunderstorms./
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Q3: Without lightning,/ there would be no thunder./

Sl A

Q4: Inside of each cloud/ there are either positive (+) or negative (-) electrons./
Sl A

Q5: No cloud has both kinds of electrons./

Ol Ad:

Q6: When the electrons’ equilibrium is not maintained,/ there is a spark./
Sl A

Q7: 'Oh, it is thundering and lightning'./

Sjj Ad:
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What Creates Wind?

Do you know how the air creates the wind?
As the air moves, it creates the wind.

Some places on earth warms up more quickly.

. T

As the warm air rises, low pressure areas are created.
High pressure areas are created where the cool air is sinking.

The air flowing from the high pressure areas to the low pressure areas

creates the wind.

22




Q1: What Creates Wind?/

Ol Ad:

Q2: Do you know/ how the air creates the wind?/

off M-

Q3: As the air moves,/ it creates the wind./

off Ad:

Q4: Some places on earth/ warms up more quickly./

Ol Ad:

Q5: As the warm air rises,/ low pressure areas are created./

off M-

Q6: High pressure areas/ are created/ where the cool air is sinking./
Sl A

Q7: The air flowing/ from the high pressure areas/ to the low pressure areas/ creates
the wind./

off M-
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Clouds Floating in the Sky

Do you know how clouds are formed?

As the sun warms the ground and evaporates the water vapor,
the weather gets warmer.

As the weather gets warmer, the air gets lighter.

Then, the air eventually rises above.

When the air rises, it creates low pressure areas.
The water vapor forms clouds.
They float in the sky until they come down as rain.

Then, this cycle begins again.
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Q1: Clouds Floating in the Sky/
Sjj Ad:
Q2: Do you know/ how clouds are formed?/

<] ESK

Q3: As the sun warms the ground/ and evaporates the water vapor,/ the weather gets

warmer./

SfA:

Q4: As the weather gets warmer,/ the air gets lighter./
Sij A:

QS5: Then, the air eventually rises above./

Sl A

Q6: When the air rises,/ it creates low pressure areas./
SfAd:

Q7: The water vapor forms clouds./

<] ESK

Q8: They float in the sky/ until they come down/ as rain./
Sl A

QO9: Then, this cycle begins again./

Ol Ad:
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Typhoons

Do you know the difference between typhoons and hurricanes?
Typhoons are violent tropical storms in the western Pacific Ocean.
Hurricanes are violent tropical storms in the West Indies and

Caribbean Sea.

Are typhoons dangerous?
They are very dangerous.
When typhoons are moving around,

there is wind, rain, hail, and more coming.

Their size gets bigger as they travel.
They cause much damage to nature and human beings.

But, there is one place that is calm: the eye of the typhoon.
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Why Does it Rain a Lot in The Summer?

Do you know why it rains a lot in the summer?
It is because of the hot temperature.
As the air warms up,

the water vapor in rivers, lakes, the seas, and more gets lighter.

Then, it rises up and forms clouds.

Once there is too much water vapor in the clouds,
the clouds become too heavy to float.

Then, the water vapor starts falling down.

The water vapor comes down as drops of rain.
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Earthquakes

Do you know what causes earthquakes?
The earth has four layers.

They are the crust, the mantle, the outer core, and the inner core.

The outermost layer is the crust.

The crust is made up of plates.

The plates are constantly moving.

The plates do not always move smoothly.

They sometimes become stressed.

So, the plates hit each other from time to time.

This is when people say, “Oh! The ground is moving! Earthquake!”
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Jeju Island and Volcanic Eruptions

Do you know

why all rocks on Jeju Island are black and have holes on them?
Jeju Island of South Korea was formed by volcanic eruptions.
It was about 2 million years ago.

Halla Mountain is an inactive volcano.

Do you know how the island was created?

There was an opening on the earth’s surface.

Molten rocks and volcanic gases escaped through the opening.
The magma eventually reached the surface becoming lava.
There was a volcanic eruption.

This is how Jeju Island was created.
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Earth is Getting Warmer: Global Warming!

Earth has been getting warmer every year, especially since 1995.
Do you know how earth has been getting warmer?

With the increase in the number of greenhouse gases,

sunlight comes back to warm the surface of the earth.

The temperature of earth gets higher.

Global Temperature Land-Ocean Index

- Annual Mean
—— 5-year Mean

b =

=]

Temperature Anomaly (°C)
)

4
1880 1900 1920 1940 1960 1980 2000

Humans have a big responsibility.

We have to take care of Earth.

There is only one way to slow down or stop global warming:
we must change the way we live.

Recycling is the easiest and best way to save Earth in Every Way.
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Why Doesn’t Snow in The Mountains Melt?

There are five layers in the Earth’s atmosphere.
These layers are the troposphere, the tropopause, the stratosphere,

the mesosphere, and the ionosphere (aurora).

We live in the first layer.

The mountains are also below the troposphere.

Inside the layer, the temperature gets higher as the elevation gets lower,
and the temperature gets lower as the elevation gets higher.

Hence, it is much colder at the top of the mountains.

The snow does not melt

due to one of the characteristics of the troposphere.
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Newton and the Apple

Sir Isaac Newton and the apple: gravity.

We all know the story of how Sir Isaac Newton first discovered

the Universal Law of Gravitation.

He was sitting under an apple tree, and an apple fell on his head.
The apple was pulled by the earth’s pulling power, gravity.

What is gravity?

Gravity is the pulling power.

Everything is pulled down to the ground.

If you jump, your body comes back down.

This happens because there is gravity, the pulling power.
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What is a Mirage?

Angie and Youngsu went to the world’s largest hot desert, the Sahara.
They took water with them and tried not to drink much water.
Since it was their first time in the desert,

they drank all of the water that they brought.

After a little while, their thirst got really bad.
Then, it started!
They started seeing an oasis.

They ran to the oasis, but there was no oasis.

They could not understand what was happening.
What was happening to them?

‘A mirage!
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Compasses Point North

If you were ever going on a trip to the mountains or on a boat trip,
you should take a compass with you.

The compass always points to the N and the S.

You will not have to worry about finding your way back home

if you were to get lost.

Do you know how the compass works?
The compass has a magnetic needle.

The earth is a magnet.

The North Pole pulls the end of the N needles.
The South Pole attracts the end of the S needles.

The magnetic needle and the earth attract and pull one another.
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Soap Bubbles Are Round

Do you know why soap bubbles are round?
Soap bubbles have many air molecules inside of them.

They are always pushing against the soap film.

All air molecules in soap bubbles are equally strong.

This is why soap bubbles are round.
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Why Are Boiled Eqqgs Hard?

The egg has protein molecules.
The bond among the protein molecules is weak

when the egg is not boiled.

The protein molecules join together when heat is present.

The molecules have a stronger bond and become much larger.

70



Q1: Why Are Boiled Eggs Hard?/

Sjj Ad:

Q2: The egg has protein molecules./

Sfj A:

Q3: The bond among the protein molecules/ is weak/ when the egg is not boiled./
Sl A

Q4: The protein molecules join together/ when heat is present./

Ol Ad:

QS5: The molecules have a stronger bond/ and become much larger./

Sl Ad:

71



-

Sl E: /are /boiled /eggs /hard /why
K-

(0]
o

: /egg /has /molecules /protein /the

: /among /bond /molecules /protein /the /the

Q4: o8l

-

E: /boiled /egg /is /not /the /when

=l
—
o

-

Bl E: /join /molecules /protein /the /together
K-

o:]
o

I 2AS2 2 2L C

6: CHEd Xl

Q

-

Sl E: /heat /is /present /when
K-

=

: /a /bond /have /molecules /stronger /the

: /and /become /larger /much

2N AR =

=

Q9:

72



A
__o_._._
b
(W]
[}
o 1
o =
o o
mA
ot o
vl _
Il il
Ry ._u___ <R
Ly U -
=1 N O
g 0| C
(0] =L ~ —_—
Am_ d 5 RN
7 & =
% or >~ ofll
S ol | B
~| o3 jol ol o
h_/l Mr_._//_l N = H ol
He = g = ©
[ — = —
dieg ® g ® =
N Rl < ol =
| © 5 uln ujn Y
O ol i < K T
Ny I T g
= o R U
0l ! i Tl K
<8 ]l i i i !

o RTO& KM 63 KMo KM oig KT
OB O8O E O E O B

73



5_3t3t3t7|£03_E2&0|
Fireworks!

Fireworks are beautiful.
Fireworks were originated in China.
Chinese people used fireworks to celebrate the New Year.

The colorfulness of fireworks sure can help celebrate the New Year.

Why are they so loud?
Fireworks have gunpowder and fuses.

Gunpowder ignites the fuses inside fireworks.
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Magnifying Glasses and Black Paper

Do you know how to burn black paper with magnifying glasses?
Sunlight is made up of particles.
The particles are energy.

The energy radiates heat.

Magnifying glasses, the convex lenses, narrow the energy.
Black paper fully absorbs the energy.
The energy heats up the paper.

It eventually burns the paper.
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